C:# Finden von fehlenden Winkeln

Name:
Finde den GroRenwert von 'A’. Antworten
1) A 2)
1
2.
3.
3) 162° 4) A 4.
S 77° 5.
> > 6.
5) 6 7.
117° A
8.
A .. 82°
) \ ) \ 9.
10.
7) 8)
A 11.
930 700
‘ 12.
9 10
) ) 114°
A
11) 147° 12)
1-10 | 9283 75|67 [58[50] 4233|2517 |
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ﬂh Finden von fehlenden Winkeln

Name: L Osungsschlissel
Finde den GroRenwert von 'A’. Antworten
1) 2)
A L 129
2 38
3 132
3) 162° 4) A 4. 137
A 77 5 86
> > 6. 113
: 6 7 /70
) ) A
8. 112
. 82
; ) . 9 59
10. 81
7) 8)
A 11, 29
70 12. 102
9 10
) ) 114°
A
11) 147° 12)
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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